SAMPLE PAPER
SCIENCE
Class — X

General Instructions
(1Y The question paper comprises fuo sections, A and B, you are to aitempt both
the sections.

{iy Al guestions are compulsury.

(i1}  There is no overall choice. However internal chofee has been provided in all
the three guestions of five marks category. Only une option in each question
iz to be gitempied,

{iry Al questions of Section A und all questions of Seciton 8 ure o be attempied
separately,

(v} Question numbers 1 to J in Section A are one mark questions. These are {0
be answered [n one word or one sentence,

{ui} Question numbers 4 to 6 are two marks questions, te be answered in abou!
30 words.

(i} Quesiton rumbers 7 to 18 ore three marks gquestions, to be answered in
about 50 words.

(viii) Question numbers 19 to 24 are flve moarks questions, to be answered in
about 7O words,

(ix} Question numbers 25 to 33 in Sectinn B are based on practical skifls. Each
question ta of one mark,

x)  Question numbers 34 to 36 are based on praciical skills, Each question s
of HO morks.

Section-A

1. What e the stmtural and functionad unit of nervots sy<tem 7 Name sy ben conpansnts. !
20 Why stould solar cooker be covered with glass plate 7 1
30 Wihat does the tangant deawn ut o paing to the nugnetic izl line corves sipmfy 7 1
4. Llentily the substanee oajdised. substanee reduced. oxidising agent and reducing agent in the ollowimny e lion -
Mu(y, « dH(T — w1, + C1, - 2H.O 2
3, Give vhservation and wrile chemical cquation [ reaction of sodiunn with weater, i
i, Aok What maierial is used in making e fuse
thy Name the characieristics whivh muke it soitable far this. F

7, Three 2 0 resistors, A B oand € are comneeied as shown in figure. Bach ol them dis<pales energy aml i witkstand a
masiurn powser o R W without melting. Find the maximuwm currenl thut can Bow theough the three mesisions. 1
Fil
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K. frl A kil which is used b oo i, was imimediately dipped v water comiaining drops of blue lianos soltion. §f
the: colour of Lhe solution is chunged 10 ted, what interenee e be deawn abowt the nature of the et and why ?
ot Whicl awwd s prosent m vinepar U Ly o weak or srong 3
9 et Wit o balunced chemical cuatiom for & combimation reaction.
thi Whisl kappens in s displacement reaction, Justily your aieswer giving ane example. 3
ML What would yow ohserve wlen
fer culeanmy oxide iy added v waler 7
fiet i cloride solution s added 1o <sodiom sulphate sslution
viied Led niteate s hearsd
Vit the resctions involved in aaclr e k|



1. Complete and Rulance the fllewing reacrions
£ Mnear 4 FNC e, il - - i Colsy + '[J_,U:,{] v Ciy Cul ) Hed 1
UY [ 4 sections) wiew of human hearl wod Tabel on it o Aoela (i Bight sentricle und (i Pulmonary vein. }
I3 Nime the hormones seorcted by thyroid, pancrens und adrenal glands. Write one Tunetion of each ol these hormones, 3
S, Mr Base his o plan of lansd where he does Lea plantation. Yield [ the piuntaion depends an number of shools penerated
fromn o tea hush. Larger the ared eovercd by a bush. higher is the yield Tor the bush. M Chakravany. a {7iend of
Mr, Huse wants t help him and bas therefore peme throogh various books to get an idea how they can increuse 1he

sroduicton,
Ilm VWl advice cam ML Chakrvany give 10 M Bose 1o increase the area of 3 bush in his plantution ?
the What is the principle behind the above advice ™
fer Wi do van eall the atfituede of M Chakravany 3
15, Gen Which uses more enecey, o 75 W TV sl L or 2 12000 W waser in 1) mimnles 2
11 Howe much currest will an eleetne heater draws (rom a0 2200V saurce if the resistunce af heater is 1000 £2. }
P What dees the dieeetion of thumb indicate in the right-hand thomb rule 2 Inowhat way this rule is different trom Fleming's

[

ledl Tand rule ?
17, rerl Wehat bs o Dol thy Write uny two charseierisics of o good Tuel,

[+

I8. Suggest two materials that can be used to produce biogas. Mention two uses of biogas and two advantages of biogas

plant. 3
19. An electric lamp of R, & and a conductor R, € are connected in series to a V volt battery, Calculate the
(/) total resistance, (if) total current in the circuit,
(iit) potential difference across the conductor. 3

20.  (a) Give the chemical names of acids present in (/) ants (i/) lemon (iii) milk (iv) tomato.

(h) Write the chemical names of two salts belonging to sodium family,

(¢) Show by an activity aqueous solution of acid conducts electricity. (3+2=5)
21, (a) Name the main ore of mercury. How is mercury obtained from its ore ? Give balanced chemical equations.

(h) What is thermite reaction ? How is it used to join the railway tracks or cracked machine parts ?

(¢) Name the method used to extract metals of high reactivity, 3
22, (a) Draw a diagram of an excretory unit of a human kidney and label the following :
Bowman's capsule, Glomerulus, Collecting Duct, Renal Artery.
(£) Write the important function of the structural and functional unit of kidney.
5

(c) Write any one function of an artificial Kidney.
23.  (a) A positive charge particle projected towards west is deflected towards north by a magnetic field. What is the direction
of magnetic field ?
(b) A region "A’ has magnetic ficld lines relatively closer than another region “B’. Which region has stronger magnetic
field 7 Give reason to support your answer.
(¢) Why two magnetic field lines cannot intersect 7
24, (a) State Ohm’s law.
(b) Draw a circuit diagram for the verification of Ohm’s law. Also plot graphically the variation of current with potential
difference.
A student carries oul an experiment and plots the V-1 graph of three samples of heating clement, made of an alloy. with
resistance R, R, and R, respectively. Write them in decreasing order and give reason to support your answer. S5
N
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I(ampere) ——>

v

V(voits) —>

Section-B

25. The pH value of a solution is 6, What is the colour developed when a student adds three drops of universal indicator in
the solution ? 1
(a) Red (b) Blue
(¢) Green (d) Orange



26. A few drops of liquid “X" were added to distilled water. It was observed that pH of the water is increased. The liquid "X’
could be

(a) lemon juice (&) NaCl solution
(¢) Na,CO, solution (d) dilute HCI
27. Prachi added dil. HC to a test tube containing zinc granules and noted the following observations :
(1) The zinc surface became dull and black. (1) A gas evolved which burnt with a pop sound.

(I11) The solution remained colourless.
The observations found correct are

(a) 1 and 11 (b) 11 and 11
(¢) 1 and 1 (dy I, Il and 111
28. To show that iron is more reactive than copper, the correct procedure is to 1

(@) prepare ferrous sulphate solution and dip copper strip in it.
(b) prepare copper sulphate solution and dip iron strip in it.
(c) add dil. nitric acid on both strips.

(d) heat iron and copper strips both.

29. The colour of aluminium sulphate crystals is 1
{a) Blue (h) Yellow
(¢) Green (d) Colourless
30. A student took four test tubes containing solutions of different colours marked 1, 11, [11 and IV as shown below. The test
tubes, containing copper sulphate solution and ferrous sulphate solution, could be the tubes 1

(a) 1 and IIT (b) 11 and 11
(c) I and IV (d) 11 and IV
3. A student took Cu, Fe, Zn and Al strips separately in four test tubes labelled 1, 11, 11l and TV. He added 10 mL of freshly
prepared ferrous sulphate solution to each test tube as shown below ; 1
1 i m
-— Qs
N 0

reddish brown dark grey  silverish grey silvery white

Cu Fe Zn Al
Black residue would be obtained in test tubes
(a) I'and I1 (b) T and III
(c) I and 1L (d) IIT and IV
32. Out of the four circuits shown for studying the dependence of the current on the potential difference across a resistor, the
correct circuit is 1
o) -
- H—{e ” - ‘H}:—(. e . ,""._'(' R - "l'__'( / A
~ A "~
@ B ®- ®
- +
(I (I (II1) (Iv)
(a) 1 (b 1

(¢) 1M1 (@ 1Iv



33. The resistors R and R, are connected in 1

R,

R, )—J
A —e—{H——(+ Ay—e—H+—(-

Circuit-1 Circuit-11
(a) parallel in both circuits, (h) series in both circuits.
{c) parallel in circuit | and series in circuit I (d) series n circuit | and parallel in circuit IL

34, The following ammeters and voltmeters are available in the laboratory to find equivalent resistance of two resistors R, and
R, in parallel :
Ammeters : A, of range 0 to 300 mA : Least count 10 mA
A, of range 0 to 100 mA : Least count 20 mA
Voltmeters : V| of range 0 to 5 V : Least count 0.2 V
V, of range 0 to 4 V : Least count 0.4 V
The best combination of voltmeter and ammeter would be |
(a) ammeter A| and voltmeter V,
(by ammeter A and voltmeter V,
(c) ammeter A, and voltmeter V,
{d) ammeter A, and voltmeter V,

35. In the circuit given below, the voltmeter and ammeter reading are respectively 1
0{:" {.) —@4—
2V
AN
20
+/\_I\—
() 2V and 2 A (b) 1 Vand 2 A
(¢c)2Vand | A (d) 1 Vand 1 A
36. In an experiment to study dependence of current on the potential difference across a given resistor, four students P, Q, R
and S kept the plug key in the circuit closed for time ¢, and then open for time 1, as given in the table below. 1
Student | Closed time | Open time
1, seconds |, seconds
P 15 | 45
Q 45 15
R 60 30
S 45 30
The best choice of open and closed time is that of student
(a) P (b} Q
(c) R (d) S
37. A portion of destarched leaf of a potted plant was covered with a black strip of paper. The plant was exposed to sunlight
for six hours and then tested for starch. It was observed that 1

{a) both covered and uncovered parts turned blue-black. (b) both covered and uncovered parts turned brownish yellow.
(¢) only the uncovered part turned blue-black. {d} only the covered part tumed blue-black.



38. Figures A, B, C and ) show leaves that has been boiled in alcohol, placed in four beakers containing liquids as labelled.

\ ] '
——— Benedicts — NaCH ——}— lodine
oy solution A solution e ‘ solution
\Qy; e Q/ |
At Leat S Leaf = Lea
(Al 8) {C)

In which one of the above, a positive test for presence of starch would be obtained ?
et} A thy B
ey C (d) D

39, A well stained leaf peel preparation when focussed under high pow
(a) epidermal cells, stomata and guard cells, each with one nucleus and many chloroplasts.
(h) epidermal cells. stomata and guard cells, cach with many nuclei but one chloroplast,

{¢) stomata and guard cells without nuclei or chloroplast,

(/) stomata but no guard cells or epidermal cells.

40. In the following diagram of the stomatal apparatus, which parts are correctly labelled

1} Guard cels

() Thin wall

(a) ¢fy and ()
(e) Livy and i)

(a) seeds used up oxygen in the flask.

(¢} gernunating seeds suck the waler from the beaker.

(W) Nucleus

(M iy and (1)
() (v} and ¢iv)
41. In the experiment demenstraling respiration in perminating seeds. the water rises in the delivery tube due (0 1
(h) CO. is given out by germinating seeds.

42. What is the use of KOH solution in this experiment ?

Rubber
cark

KOH
Solution

Germinating seacs
(a) Absorbs CO, released by germinating sceds,
(¢] Absorbs moisture released by the seeds.

{iif) Thick wall

—t— Water
A
e
o Leal
()

er of the microscope would show

{d) a partial vacuum is created as CO, is absorbed by KOH.

(b)Y Absorbs O, released hy germinating seeds.
(d) Provides moisture (o germinating seeds,



